Dooooooo|jpboooojoooo/oooo/og

gogn goobooboob|icobooo|joboo/moo
g/on

goon goooboobboodgd

HEN 5000.00/0

gogn goobobo:oodogn

gouoo:ooog
gooo:oodo

0000 000000000000000000000
30

0000 13871180282

ot

Oo0o00oooo|jpooboo|booo/oooo/oo

Oo0o00ooog|boobobo|ioooo/o0obo0 o000 o0ooDboUb booot(mm) 15
OO00000000f(Nmm2)160 00000000t J(N/mm2)1.40 000 0O O E(N/mm2) 7300
O0000Ob=1000mmO0OOOO0O0ODOOOOO

WO bt2/6=1000x% 15x 15/601 37500mm30 10 bt3/12=1000% 15x% 15x 15/12[1 281250mm4

glOdy 0x [1.3(Glk+(G2k+G3k)x h)+1.5% y Lx QI1K]x b=1.1x [1.3x (0.1+(24+1.5)x 1.5)+1.5x 0.9x 3]x 1
[0 59.296kN/m g1 Oy 0x 1.3x [G1lk+(G2k+G3K)x h]x b0 1.1x 1.3x [0.1+(24+1.5)x 1.5]x 1[0 54.841kN/m
qlO0 Oy 0x 1.5%x y Lx Qlkx b 1.1x 1.5% 0.9x 3x 1[] 4.455kN/m

q20 [1x (G1k+(G2k+G3K)x h)+1x 1x Q1k]x b0 [1x (0.1+(24+1.5)x 1.5)+1x 1x 3]x 10 41.35kN/m
O000000ue10n0oon

Mmax[ 0.107q10 L2+0.121910 L200 0.107x 54.841x 0.1582+0.121x 4.455% 0.15820J 0.16kN m

o O Mmax/W[ 0.16x 106/3750000 4.259N/mm2< [flO16N/mm20 0000 200000

v max[ 0.632g2L4/(100E1)=0.632x 41.35x 157.8954/(100x 7300x 281250)0J 0.079mm< [v ]0 min[L/1500)
10]0 min[157.895/15000 10]0 1.03mm I 0000 30000000 00O @UODOO0ODODOO)
R1=R5=0.393q10 L+0.446q100 L=0.393% 54.841x 0.158+0.446x 4.455x 0.1580J 3.717kN

R2=R4=1.143910 L+1.223q10J L=1.143% 54.841x 0.158+1.223% 4.455% 0.1580J 10.758kN

R3=0.928g10 L+1.142q1[0 L=0.928x 54.841x 0.158+1.142x 4.455x 0.158(] 8.839kN
O00@O0O0D0DO0O)RI'=R5'=0.393g2L=0.393x 41.35x 0.158[] 2.566kN

R2'=R4'=1.14392L=1.143% 41.35x 0.1580J 7.463kN R3'=0.92802L=0.928x% 41.35x 0.1580] 6.059kN

000000 000000000000 (mm)40x 80000000000 [fj(N/mm2) 15.444
000000000 J(N/mm2)1.7820 0 00 00 0 W(cm3) 42.667 0 O 0 O O O E(N/mm2) 9350147
0D000O00O0NKem4) 170667000000 000 000000000
0000000000000 00ql0 0 RLYb=3.717/10 3.717kN/m



O0000000D0000000D0DOOgl00 Max[R2,R3,R4]/b=Max[10.758,8.839,10.758]/1=10.758KkN/m
0000000000000 0O0OglO0ORSb=3.717/10 3.717kN/m

O0000O0Qg20 1.1x 1.3x (0.3-0.1)x 3/19 =0.045kN/m

0000000000000 0g3001.1x 1.3x 0.5x 1.5=1.073kN/m
O0000000D000000g3001.1x 1.3x 0.5x 1.5=1.073kN/m

O000000g00dgld +g2+q30 =3.717+0.045+1.073=4.834kN/m

O00000qg0=gl0 +g2=10.758+0.045=10.803kN/m

O000000g00dgld +g2+q30 =3.717+0.045+1.073=4.834kN/m

00000 0g=Max[ql! ,q0 ,q00 ]=Max[4.834,10.803,4.834]=10.803kN/m 0 0 00 0 OO0 O O
000000000000 00ODGQglO'0RLY/b=2.566/100 2.566kN/m
O0000000D0000000D0O0gl0 D Max[R2',R3",R4')/b=Max[7.463,6.059,7.463]/1=7.463kN/m
000000000000 DOO0OglO ™RS5 /b=2.566/102.566kN/m0 00 0O 0 ¢g2'0 1x (0.3-0.1)x 3/19
=0.032kN/mIODC0O00000O0DOO00OOQe30'0 1x 0.5x 1.5=0.75kN/m
O0000000D0O000009g30'01x 0.5x 1.5=0.75kN/m

0000000 'Dql0 +g2'+930 '=2.566+0.032+0.75=3.347kN/m 0 0 0 0O O O g0 '=ql0 '+
02'=7.463+0.032=7.494kN/m 0 0 0 O 0O O g0 'O qlO '+qg2'+g30 '=2.566+0.032+0.75=3.347kN/m
O00000g=Max[qU ',q0 *,q0 "]=Max[3.347,7.494,3.347]=7.494kN/m
O0000000DO00000D0DO00bO000DD1IO00D000

Mmax[J max[0.125g112[0 0.5g122] 00 max[0.125x 10.803x 0.62[J 0.5x 10.803x 0.32]0J 0.486kNL] m

0 =Mmax/W=0.486x 106/42667=11.394N/mm2< [f]=15.444N/mm2 0 0000 200000

Vmax[ max[0.5gl10 gl2]0 max[0.5% 10.803x 0.601 10.803% 0.3]01 3.241kN

T max=3Vmax/(2bh0)=3x 3.241x 1000/(2x 40x 80)[J 1.519N/mm2< [t ]=1.782N/mm20 000 O
3nooog

v 100 5q'114/(384EI)[0 5% 7.494x 6004/(384x 9350x 170.667x 104)0 0.792mm< [v 10 min[l1/1500
10]=min[600/1500] 10100 4mm

v 200 q'l24/(8EI) 7.494x 3004/(8%x 9350x 170.667x 104) 0.475mm< [v ]0 min[212/1500]
10]=min[600/1500 10]04mm I 0000 40000000 14814900 000000
Rmax=max[qL1,0.5gL1+gL2]=max[10.803% 0.6,0.5% 10.803x 0.6+10.803x 0.3]=6.482kN [0 00 0 00 O
OO0o00oooooooooooog
R1=2.9kN,R2=6.482kN,R3=5.33kN,R4=5.33kN,R5=5.33kN,R6=5.33kN,R7=5.33kN,R8=5.33kN,R9=5.33kN,R
10=5.33kN,R11=5.33kN,R12=5.33kN,R13=5.33kN,R14=5.33kN,R15=5.33kN,R16=5.33kN,R17=5.33kN,R18=5.3
3kN,R19=6.482kN,R20=29kN 0 00 000 OO

Rmax'=max[q'L1,0.5q'L1+q'L2]=max[7.494% 0.6,0.5% 7.494x 0.6+7.494x 0.3]=4.496kN 0 0 O O O
O0O000000DbOo0oooOooog
R1'=2.008kN,R2'=4.496kN,R3'=3.654kN,R4'=3.654kN,R5'=3.654kN,R6'=3.654kN,R7'=3.654kN,R8'=3.654kN,
R9'=3.654kN,R10'=3.654kN,R11'=3.654kN,R12'=3.654kN,R13'=3.654kN,R14'=3.654kN,R15'=3.654kN,R16'=3.6
54kN,R17'=3.654kN,R18'=3.654kN,R19'=4.496kN,R20'=2.008kN D 0D 0D OO0 D OO DO DO O
000000100000 000000000[f(N/mm2)205000000000 [t J(N/mm2) 125
O000000W(Cem3)490 000 0O 0OE(N/mm2) 206000 0 0 0 O 0O O O I(cm4) 245
00000000011 0000000000 (KkNOm)

0 =Mmax/W=1.047x 106/49000=21.363N/mm2< [f]=205N/mm20 0000 200000 OO 00O O (KN)
Vmax[] 12.138kN T max=Vmax/(81zd )[bh02-(b-

0 )h2]=12.138x 1000x% [68x 1002-(68-4.5)x 84.82]/(8% 2450000x 4.5)[J 30.74N/mmz2< [t ]=125N/mm?2
00000300000 15015100004 (mm)

v max[J 0.017mms< [v ]0 min[L/15000 10]=min[600/15000 10]04mm O 0000 40000000
O0o0ooood

000000 OR1=0.25kNO R2=1.947kN ] R3=19.823kN[J R4=20.417kN[] R5=20.169kNU

R6=20.417kNO R7=19.823kNJ R8=1.947KNO R9=025kN 0 0 0D 00000 OO0 O0OOD0DOOO O0DOOO
O000000D0DO[N](kN) 60

O0000000O0NDmax[R1O R20 R3O R4 R500 R6M0 R700 R8I R9]0 20.417kN< [N]=60kN O O O 0O O
O0000D0000D00000@Mmm)®60x 320000000000 (mm)®60x 3.20000 Q345



O000O0O0AMmM2)5710000i1(mm)2.10000000WCem3)7.700000000000OOnN
1200000000000k07O0000000I[fJ(N/mm2)3000 000000 q(kN/m) 0.15
1000000 hmax=max(n h,h*+2ka)=max(1.2x 1500,1000+2% 0.7% 500)=1800mm

A =hmax/i=1800/20.1=89.552< [A ]=1500 0000000 0O00ODO@ 0055815220 00 00O 0

R10 0.25kN R20J 1.947kNT R3[J 19.823kNU R4[J 20.417kNU R50 20.169kN R60J 20.417kNLI R7

[0 19.823kN R80 1.947kNU R90 0.25kN

00000 ONOmax[R1D R20 R3O R4 R50 R6J R70 R8I R9]+1.1x 1.3% 0.15% (17.5-1.5)0J
max[0.250 1.94700 19.823[1 20.4170 20.16901 20.41701 19.8230 1.94700 0.25]+3.432[0 23.849kN

fOO N/(@ A)0 23.849x 103/(0.558% 571)0 74.852N/mm2< [f]=300N/mm
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